Chupter I.  
J. Refinition.  

$$\begin{bmatrix} Deff \\ I \end{bmatrix}$$
. The n-th Weyl algebra  $An$  is the K-subalgebra  
 $W = End_{K}(KTXT)$  generowed by operators.  
 $\hat{g}_{1},...,\hat{x}_{n}$ ,  $d_{1},...,d_{n}$  where.  
 $\hat{g}_{1}$  is defined as:  $V \neq KTXT$   $\hat{g}_{1}(f) = \pi; d$   
 $d_{1}$  is defined as:  $V \neq KTXT$   $\hat{g}_{1}(f) = \pi; d$   
 $d_{1}$  is defined as:  $V \notin KTXT$   $\hat{g}_{1}(f) = \pi; d$   
 $d_{1}$  is defined as:  $V \notin KTXT$   $\hat{g}_{1}(f) = \pi; d$   
 $d_{1} \approx defined as: V \notin KTXT$   $\hat{g}_{1}(f) = \pi; d$   
 $d_{1} \approx defined as: V \notin KTXT$   $\hat{g}_{1}(f) = \pi; d$   
 $d_{1} \approx KTXT$   $(d_{2}, K, T)$   
 $Point A_{0} = K$   $E_{2}$   $n = new defined A_{1} \wedge KTXT$   $V$   
 $An is work commutative  $A_{1} \wedge KTXT$   $(d_{2}, K, T)$   
 $FmKZT$  An is not commutative  $M$  is subag.  
 $E_{3}$ .  $Td_{1} \pi_{1}^{2} = 1$ , i.e.  $d_{1} \approx_{1} d_{2} = \pi; d_{1} + f$   $f$   $An$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  is not commutative  $M$  is subag.  
 $F$   $f$   $An$  not subag.  
 $f$   $An$$ 

if some Cap is non-zero than 
$$D \neq 0$$
  
Sime. D is a openator. Pto iff  $V \neq \epsilon$  K(X) s.t.  $D(f) \neq o$   
aim: find (at lenst one) swholle f.  
Let  $\sigma$  be a multi-index s.t. Car  $\neq 0$  for some index  $d$ .  
but Cap  $\infty$ , for all indices  $\beta$  s.e.  $|\beta| < |\sigma|$   
Eq:  $D = \chi_1 \chi_2 d_1 + 2\chi_1^2 \chi_2 d_1^2 + \chi_1 \chi_2^2 d_1 d_2^2 + \frac{4}{2}\chi_1^2 \chi_2^2 d_1^2 d_2^2$   
 $I = C_{(1,1)} (1,0) - \chi^{(1,0)} - C_{0} = C_{(1,0)}$   
 $2 = C_{(2,1)} (2,0) - \chi^{(2,1)} - \frac{1}{2} (2,0) - C_{0} = C_{(1,0)}$   
 $1 = c_{(1,2)} (1,0) - \chi^{(2,0)} - C_{0} = C_{(1,0)}$   
 $1 = c_{(1,2)} (1,0) - \chi^{(1,2)} - \frac{1}{2} (2,0) - C_{0} = \chi_{1,\chi_{1}}$   
 $\varphi = C_{(1,2)} (1,0) - \chi^{(1,2)} - \frac{1}{2} (2,0) - C_{0} = \chi_{1,\chi_{1}}$   
 $\varphi = C_{(1,2)} (2,0) - \chi^{(2,0)} - D(\chi_{1}) - D(\chi_{2}) = \chi_{1,\chi_{1}}$   
 $\varphi = C_{(1,2)} (2,0) - \chi^{(1,2)} - \frac{1}{2} (2,0) - C_{0}$   
It is a meaningful work, or it makes no sense.  
Consider  $D(\Lambda^{0}) = s \stackrel{!}{=} 2_{s} Car - \chi^{d} - \frac{1}{1} - \frac{1}{10} - \frac{1}{10} - \frac{1}{10} - \frac{1}{10}$   
New  $D(\chi^{-1})$  is hon-zero for suce. Thus  $f = \pi^{-1}$  is what no comp.  
 $\geq Uniqueros - pined$ .

3. Generorors and Relations.

$$\oint \left( \left( 2^{(\alpha_1,\beta_1)} + J\right) \left( 2^{(d_1,\beta_1)} + J\right) \right)$$

$$= \oint \left( 2^{(\alpha_1,\beta_1)} \cdot 2^{(d_1,\beta_1)} + J \right)$$

$$= \Re^{d_1} J^{\beta_1} \cdot \chi^{d_2} J^{\beta_1}$$

$$= \oint \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right)$$

$$= \int \left( 2^{(N_1,\beta_1)} + J \right) \cdot \oint \left( 2^{(D_1,\beta_1)} + J \right) \cdot \int \left( 2^{(D_1,\beta_1)}$$

$$\begin{aligned} \mathcal{L} \cdot g : & \Lambda = \mathcal{L} \quad M = I \\ f_1 &= k_2 \Lambda_2 \quad f_2 = 0 \\ \sigma : & \Lambda_2 \to \Lambda_2 & \text{in a word.} \\ & \chi_1 &\mapsto \chi_1 + f_1 &= \chi_1 + k_3 \Lambda_2 \\ & \chi_1 &\mapsto \chi_2 + f_2 = \chi_2 \\ & J_1 &\mapsto \chi_1 - \left(\frac{\partial f_1}{\partial \kappa_1} d_1 + \frac{\partial f_2}{\partial \kappa_1} d_2\right) \\ &= J_1 \\ & J_2 &\mapsto J_2 - \left(\frac{\partial f_1}{\partial \kappa_2} d_1 + \frac{\partial f_2}{\partial \kappa_1} d_2\right) \\ &= J_2 - k_2 J_1 \end{aligned}$$

pruf: (This pruf only show there o is an endu. further dorealls is drescused in chap 4.) I there up homo is every.

Peqine a homo it: 
$$k_{1}^{2} = \frac{1}{2} - \frac{1}{2} - \frac{1}{2} - \frac{1}{2} \frac{1}{2}$$

$$= \delta_{ij}$$

$$Dund = \psi(\overline{L}_{214n}, \overline{Z}_{j+n}) = 0 \quad \text{thuy.} \qquad \psi($$

Consider 
$$T(x_i) = x_i - f_i$$
  
 $T(\partial_i) = \partial_i + \sum_{\substack{k=1 \ k \neq i}}^n \frac{\partial f_k}{\partial x_i} \partial_i c$  it is the inverse of o mot neal  
to be checked in Ch4. §4.

Chapter 2. When summaries.  
1. The oblight of an operator.  
[by], 
$$\forall D \in An$$
, The degree of  $D$  is the largest length of the  
multi-indices  $(a \in P \in M^n \times av)^n$  for which  $\pi^{a} J^{a}$  oppoint with  $\pi^{a} \dots 2avo$   
(coefficience in the canonical form of  $D$ , denoted by  $dy(D)$ .  
 $Dy(D)^{-} - \infty$   
 $Dy(D)^{-} - \infty$   
 $Dy(D)^{-} = deg(D+D') \leq max f deg(D), deg(D)^{1}$ .  
 $Dy(D)^{-} = \infty$   
 $Dy(D)^{-} = deg(D+D') \leq max f deg(D), deg(D)^{1}$ .  
 $Dy(D)^{-} = \infty$   
 $Dy(D)^{-} = deg(D+D') \leq max f deg(D), deg(D)^{1}$ .  
 $Dy(D)^{-} = \infty$   
 $Dy(D)^{-} = deg(D+D') \leq max f deg(D), deg(D)^{1}$ .  
 $Dy(D)^{-} = \infty$   
 $Dy(D)^{-} = deg(D+D') \leq max f deg(D), deg(D)^{1}$ .  
 $Dy(D)^{-} = \infty$   
 $Dy(D)^{-} = deg(D+D') \leq max f deg(D), deg(D)^{1}$ .  
 $Dy(D)^{-} = \infty$   
 $Dy(D)^{-} = deg(D+dy) \leq max f deg(D) = deg(D)^{-} = 2$ .  
 $Dy(f)^{-} = 2f e + deg(D) = deg(D) + deg(D') = 2$ .  
 $Dy(f)^{-} = 2f e + deg(D) + deg(D) = 2$ .  
 $Dy(f)^{-} = deg(D) + deg(D) = 2$ .  
 $Dy(f)^{-} = deg(D) = deg(D) + deg(D) = 2$ .  
 $Dy(f)^{-} = deg(D) = deg(D) + deg(D) = 2$ .  
 $Dy(f)^{-} = deg(D) = deg(D) + deg(D) = 2$ .  
 $Dy(f)^{-} = deg(D) =$ 

for the deg (
$$\beta^{\alpha}\alpha^{\beta}$$
) =  $keg (x^{\beta}\beta^{\beta} + \underline{i} \beta^{\beta}, x^{\beta})$   
=  $deg x^{\beta}\beta^{\beta} = ial+i\beta^{\beta}$   
Now be  $D = x^{\alpha}\beta^{\beta}$   $D' = x^{\alpha}\beta^{\alpha}$   
if ( $\partial I = i\beta = 0$ . V  
Supprese note this case.  
 $\beta^{\beta}\alpha^{\beta} = x^{\alpha}\beta^{\beta} + P \quad p = i\beta^{\beta}.x^{\beta}$   $deg f = intilit-2$ .  
 $p p' = x^{\alpha}\beta^{\beta}\alpha^{\beta} d^{\alpha}$   
 $= x^{\sigma}(x^{\alpha}\beta^{\beta} + P)\beta^{\alpha}$   
 $= x^{\sigma+\beta}\beta^{\beta}\alpha^{\beta} d^{\alpha} + x^{\sigma}P\beta^{\alpha}$   
By induction  $deg x^{\sigma}P\beta^{\alpha} \in b(f+\alpha) + (iR(f+\beta)-2) =$   
 $deg D + deg D' - 2$   
 $\Rightarrow deg DD' = deg x^{\sigma+\beta}\beta^{k}n^{-} deg D + deg D'$   
Similary.  $DD' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D' = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} \in deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg D + deg D'^{\gamma}$ .  
 $D = x^{\sigma+\beta}\beta^{k}n + Q_{\gamma}$   $deg Q_{\gamma} = deg D + deg$ 

Lem 4]

The openness of order 61 correspond -10 the elements of Rom(P)tr.  
The element of order 0 are the elements of Rom(P)tr.  
The element of order 0 are the elements of R.  
Prof: Show the Zeed one first.  
Consider. If Vat R Ta.P] = 0  
it chows Vat R. aP(b) = P(a)  
=7 Vbt R, aP(b) = P(a)p(b)  
=) (a - P(n)) p(b) = 0'  
=) 
$$p=0$$
 or  $p(a):a = 7$  P6 Zodg R = R.  
V = t R is trivind.  
=7.  $D'_{R}(R) = Zodg R = R$ .  
Now consider  $Q \in D'(R)$  and Let  
 $p: Q - Q(r)$ .  
 $P(D = 0) = 2$  order P has order < 1.  
[4] ord P 72. then  $\exists a=1$  s.  $Mbtr[hT0.P]]=0$  (1.).  
Here IP.0] has ord 0,  $Vat = R$ .  
 $IP(a]b = hTR a]$   
 $: Pab - apb - hpat bap = 0'$   
 $complying to 1. P(ab) - ap(b) - bP(a) = 0'$  (Pi)=0)

=> 
$$p$$
 is a brivepinn of  $R$ .  
 $Q = p+Q(1) \in Der(R) + R$ . ( $Q \in b'(R)$   
 $Q(1) \in p^{\circ}(R) = R$ .)

() 
$$m + n \ge 0$$
. V  
()  $m + n \ge k$ . V  
()  $suppose m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  
()  $2f m + n \ge k$ . V  

D, Q L DM(R). DM(R)  $TP, a \in D^{m-1}(P)$  $[Q, o] \in D^{h-1}(P)$ By indurine hypothesis p[Q, 0], [0, 0] Q ← D<sup>m+n-1</sup> (12)

=> 
$$[pa, a] \in D^{min}(p)$$
 . D.  
=>  $pa \in D^{min}(p) \cdot D$ .  
[Purp]]. Early definition of  $kIX$ ]=  $k(a, ..., x_n]$  is of the  
form  $\frac{1}{2}f_id_i$ , for some  $f_i \dots f_n \in kIX$ .  
Purg:  
Det  $D \in ber_k(kIXI)$   
Then.  $D(x_i^k) = h x_i^{kn} D(X_i)$ , for  $i=1,...,n$  Hence.  
( $D - \frac{1}{2}D(X_i)d_i D(X_i^k, ..., X_n^k) = 0$ .  
=>  $D = \frac{1}{2}D(X_i)d_i = P D = \frac{1}{2}f_id_i$ ,  $f_i = D(X_i)$ .  
]  $didn'e conductural this. I think this need asp
kahler differentials.
2. The Weyl algebra.
[ame8]. Let  $p \in D(kIX) > 2f(IP, x_i] = 0$ . ( $p_{inf} \dots m$ , then  $p \in kIX_i$ ].  
Det  $f = a^{2}$ , asime  $a_i \neq a_i$ .  
 $Ip(X^{2}) = \frac{1}{2}P_{ai} = a^{2} + a_i = D(x^{2-1})$ ,  $TD = f_{inf}$ .  
 $p(X^{2}) = \frac{1}{2}P_{ai} = a^{2} + a_i = D(x^{2-1})$ ,  $TD = f_{inf}$ .  
 $V \neq kIXI$ ,  $V p \in KIXI = D(kIXI)$ ,  $TD = f_{inf}$ .  
 $(lam_1)$ . Buffixe.  $C_{inf} = \frac{1}{2}a_{inf} d^{2} \dots d_{inf} f_{inf} f_{inf}$ .  
 $C_{inf} = Cref(D^{k}(kIX))$ .$ 

Big Picture

At the first 3 chapeers , our final goal is to show we will show D(kixi) = An(k), k is a field ( WHY That is, the "differential ving" over kTXJ is just the "Weyl algebra" over kTX] Norenrally we will ask 3 QUESTIONS 1° where is Deyl algebra? 2°. Where is Pillereneial ving over a ving (KTXJ)? 3°. Why they are exactly " the same"? In 1st chapter. Le answer the first question. And ous it is a "algebra" we need to know something about it's Structure. Most importenally the ideal structure This it the Zed chapter. In the 3rd chapter ne doul with our final goed.

The concerns is following :

•